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= 66,700 0 66,700
101 1Al 32,620 0 32,620
= 32,620 0 32,620
04 JIZtHNZ22 s+ 32,620 0 32,620
O $=UNEH PZ 212 2 (HBA)
32,620,000 * 14! 32,620 0 32,620
= 32,620 0 32,620
201 ¢4l 30,080 0 30,080
= 30,080 0 30,080
01 AFR 22l 25,920 0 25,920
O g=gNEH Aga2 ¥ 29
9,700,000 14| 9,700 0 9,700
= 9,700 0 9,700
O gsxgH QB2 L 2LHI(HBH)
16,220,000 * 14! 16,220 0 16,220
= 16,220 0 16,220
02 =224l 4,160 0 4,160
O gseNSH AYB2 L 2LHI(HBH)
4,160,000 * 14| 4,160 0 4,160
= 4,160 0 4,160
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= 172,212 93,465 78,747
= 401,828 218,083 183,745
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= 574,040 726,943 A 152,903
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= 401,828 218,083 183,745
1 oIEt2 a2 1,148,080 1,038,491 109,589
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= 574,040 726,943 152,903
< 172,212 93,465 78,747
= 401,828 218,083 183,745
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= 26,400 41,010 14,610
< 3,960 6,152 2,192
= 35,640 55,362 19,722
02 QIZIRHE AL 2 X (01 HTH ) 66,000 102,524 A36,524
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= 2,880 7,200 A 4,320
= 4,320 10,800 A 6,480
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[ia 10,000 25,000 215,000
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[ia 1,379,350 1,359,728 19,622
SYLAS HEAY 1,280,200 1,256,200 24,000
402 RIZEX20l M 1,280,200 1,256,200 24,000
01 RIZt Xt 2 AL E = (REATH &) 1,280,200 1,256,200 24,000
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= 64,950 70,000 A5,050
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